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HPRD(iris) DT — 5 D rIA M

HPRHDT—5 1w k(Escikit-learnlCA > TUL\S

from sklearn.datasets import load_iris

load_iris() TEr A Firis & WD ZECHEHR

iris = load_iris() Z LTSS

iris

ZH4D
Sepal(B < F)DR= &8
Petal(fTEU'S) DR & i@

IEEN 31858
EA D% 774 X(0)
JI—=23v5(1)
IN—IZhH(2)

Iris Versicolor Iris Setosa Iris Virginica
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iris = load_iris() <~ — Lo A
iris E#%ﬂ@ck 97::1\7‘ =2

4, 0.21, {key:value, key:value, ....}

{'data': array([[5.
(4.9,
(4.7,
(4.6,

(5. ,

-

A UTW S

W wWwww ~
DPOORL N
SRR R R R
o000 Wlm
SNNNN
—ll—ll—ll—lh"—‘

. ’ . ’ . ’
2 2
[6:3,; Z:5; D= 4 3:91,
[6-5; 3« 5 52, 2. 1,
[6.2; 3.4 5.4, 23]
5.9, 3. , 5.1, 1.811), a2\ Vikvi | AN

'target': array([o, o0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, O, 1 ——D 7 ’

o, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, O,
0; 0; 0, 0:9; 0, 1;1; 1; 1: 11, 1; 1; 104 15 15 05 05 15 1
L 1 3 led; 111 15 1 4 05 X e 1 ds 15 1o X 1l Qi Xz
1, 1, L, 1,1, 1,1, 1, 1, 1, 1,1, 2, 2, 2, 2, 2, 2, 2,2, 2, .2,
Dy 2002, 252y 2,0, 2 2y 25 24525 %5 232y 2y 2y 2y 2 2y 25 2,
2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2]),

'frame': None,

'target_names': array(['setosa', 'versicolor', 'virginica'l, dtype='<U10'),

'DESCR': '.. _iris_dataset:\n\nIris plants dataset\n \n\nxxData Set Characteristics:xx\n\n :Number of Instances: 150 (50 in each of three classes)\n :Number of Attributes: 4 numeric, predictive
attributes and the class\n :Attribute Information:\n - sepal length in cm\n - sepal width in cm\n - petal length in cm\n - petal width in cm\n - class:\n — Iris-Setosa\n
— Iris-Versicolour\n - Iris-Virginica\n \n :Summary Statistics:\n\n ============== ==== ==== ======= \n Min Max Mean SD Class
Correlation\n ============== ==== ==== \n sepal length: 4.3 7.9 5.84 0.83 0.7826\n sepal width: 2.0 4.4 3.05 0.43 -0.4194\n petal length: 1.0 6.9 3.76
1.76 0.9490 (high!)\n petal width: 0.1 2.5 1.20 0.76 0.9565 (high!)\n ============== ==== ==== \n\n :Missing Attribute Values: None\n :Class Distribution: 33.3%
for each of 3 classes.\n :Creator: R.A. Fisher\n :Donor: Michael Marshall (MARSHALL%PLU@io.arc.nasa.gov)\n :Date: July, 1988\n\nThe famous Iris database, first used by Sir R.A. Fisher. The dataset is taken\nfrom

Fisher\'s paper. Note that it\'s the same as in R, but not as in the UCI\nMachine Learning Repository, which has two wrong data points.\n\nThis is perhaps the best known database to be found in the\npattern recognition
literature. Fisher\'s paper is a classic in the field and\nis referenced frequently to this day. (See Duda & Hart, for example.) The\ndata set contains 3 classes of 50 instances each, where each class refers to a\ntype
of iris plant. One class is linearly separable from the other 2; the\nlatter are NOT linearly separable from each other.\n\n.. topic:: References\n\n - Fisher, R.A. "The use of multiple measurements in taxonomic
problems'"\n Annual Eugenics, 7, Part II, 179-188 (1936); also in "Contributions to\n Mathematical Statistics™ (John Wiley, NY, 1950).\n - Duda, R.0., & Hart, P.E. (1973) Pattern Classification and Scene
Analysis.\n (Q327.D83) John Wiley & Sons. ISBN 0-471-22361-1. See page 218.\n - Dasarathy, B.V. (1980) "Nosing Around the Neighborhood: A New System\n Structure and Classification Rule for Recognition in
Partially Exposed\n Environments". IEEE Transactions on Pattern Analysis and Machine\n Intelligence, Vol. PAMI-2, No. 1, 67-71.\n - Gates, G.W. (1972) "The Reduced Nearest Neighbor Rule". IEEE Transactions\n
on Information Theory, May 1972, 431-433.\n — See also: 1988 MLC Proceedings, 54-64. Cheeseman et al"s AUTOCLASS II\n conceptual clustering system finds 3 classes in the data.\n - Many, many more ...',

'feature_names': ['sepal length (cm)',

‘sepal width (cm)',

'petal length (cm)',

‘petal width (cm)'l,

'filename': 'iris.csv',

'data_module': 'sklearn.datasets.data'}
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iris = load_iris() " . .
bris HEHD L S3BE
{'data': array([[5.1, 3.5, 1.4, 0.2], . :
[4.9, 3. , 1.4, 0.2], {key value, key value, }
[4.7, 3.2, 1.3, 0.2],
[4.6, 3.1, 1.5, 0.2],
[5. , 3.6, 1.4, 0.2],
s 2 2 0 1 7 0 Al
iris.data
1ri D ¢ )
array([[5.1, 3.5, 1.4, 0.2], iris.dataTkey(‘data’)Dvalue(F &)
[4.9, 3. , 1.4, 0.2], %mbﬂjﬁiﬁ'
(4.7, 3.2, 1.3, 0.2],
(4.6, 3.1, 1.5, 0.2],
[5. , 3.6, 1.4, 0.2],
(5.4, 3.9, 1.7, 0.4],
(4.6, 3.4, 1.4, 0.3],
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iris = load_iris() " . .
bris HEHD L S3BE
{'data': array([[5.1, 3.5, 1.4, 0.2], . :
[4.9, 3. , 1.4, 0.2], {key value, key value, }
[4.7, 3.2, 1.3, 0.2],
[4.6, 3.1, 1.5, 0.2],
[5. , 3.6, 1.4, 0.2],
s 2 2 0 1 7 0 Al
iris.data
1ri D ¢ )
array([[5.1, 3.5, 1.4, 0.2], iris.dataTkey(‘data’)Dvalue(F &)
[4.9, 3. , 1.4, 0.2], %mbﬂjﬁiﬁ'
(4.7, 3.2, 1.3, 0.2],
(4.6, 3.1, 1.5, 0.2],
[5. , 3.6, 1.4, 0.2],
(5.4, 3.9, 1.7, 0.4],
(4.6, 3.4, 1.4, 0.3],

N iris.datalEnumpyBcHl(C7x > TWLWBD T,
Siissatasshape shape CZ DR ZHEFRT D & 1501745
(150, 4) M 2>RTTlcs!
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iris.target

array([o0, o0, 0, 0, 0, 90, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, @, 0, 0, 0, O,
[ ] (] ‘ ,
\
0, 0, 0,0 0000000000000 000,.0,0, iris.target Ckey(‘target’)
0’ 0' 0' 0' 0! Ol 1! 1! 1! 1' 1' 1' 1' 1' 1' 1' 1' 1' 1' 1' 1! 1' Cj
1, 1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1, 1,1, 1, 1, 1, DPHZROBEEY
2, 2, 2, 2, 2, 2, 2, 2, 2, 2,2, 2, 2,2, 2,2, 2,2, 2, 2, 2, 2, )/
2, 2,2,2,2,2,2,2,2,2,2,2,2,2,2, 2,2,2])
F(XEDirisOENIER(IBFEERD
iho 12=+albh7]
'ta;get;né;es:: array(['setosa', 'versicolor', 'virginica'l, dtype='<U1l0'),
'DESCR': '.. _iris_dataset:\n\nIris plants dataset\n \n\nkxxData Set Characteristics:**\n\n :Number of Instances: 150 (50 in each of three classes)\n :Number of Attributes: 4 numeric, predictive
attributes and the class\n :Attribute Information:\n - sepal length in cm\n - sepal width in cm\n - petal length in cm\n - petal width in cm\n - class:\n - Iris-Setosa\n
- Iris-Versicolour\n - Iris-Virginica\n \n :Summary Statistics:\n\n ============== ==== ==== \n Min Max Mean SD Class
Correlation\n ============== ==== ==== \n sepal length: 4.3 7.9 5.84 0.83 0.7826\n sepal width: 2.0 4.4 3.05 0.43 -0.4194\n petal length: 1.0 6.9 3.76
1.76 0.9490 (high!)\n petal width: 0.1 2.5 1.20 0.76 0.9565 (high!)\n S============= ==== ==== \n\n :Missing Attribute Values: None\n :Class Distribution: 33.3%
for each of 3 classes.\n :Creator: R.A. Fisher\n :Donor: Michael Marshall (MARSHALL%PLU@io.arc.nasa.gov)\n :Date: July, 1988\n\nThe famous Iris database, first used by Sir R.A. Fisher. The dataset is taken\nfrom

Fisher\'s paper. Note that it\'s the same as in R, but not as in the UCI\nMachine Learning Repository, which has two wrong data points.\n\nThis is perhaps the best known database to be found in the\npattern recognition
literature. Fisher\'s paper is a classic in the field and\nis referenced frequently to this day. (See Duda & Hart, for example.) The\ndata set contains 3 classes of 50 instances each, where each class refers to a\ntype
of iris plant. One class is linearly separable from the other 2; the\nlatter are NOT linearly separable from each other.\n\n.. topic:: References\n\n - Fisher, R.A. "The use of multiple measurements in taxonomic
problems"\n Annual Eugenics, 7, Part II, 179-188 (1936); also in "Contributions to\n Mathematical Statistics" (John Wiley, NY, 1950).\n - Duda, R.0., & Hart, P.E. (1973) Pattern Classification and Scene
Analysis.\n (Q327.D83) John Wiley & Sons. ISBN ©0-471-22361-1. See page 218.\n - Dasarathy, B.V. (1980) "Nosing Around the Neighborhood: A New System\n Structure and Classification Rule for Recognition in
Partially Exposed\n Environments". IEEE Transactions on Pattern Analysis and Machine\n Intelligence, Vol. PAMI-2, No. 1, 67-71.\n - Gates, G.W. (1972) "The Reduced Nearest Neighbor Rule". IEEE Transactions\n
on Information Theory, May 1972, 431-433.\n - See also: 1988 MLC Proceedings, 54-64. Cheeseman et al"s AUTOCLASS II\n conceptual clustering system finds 3 classes in the data.\n - Many, many more ...',

'feature_names': ['sepal length (cm)',

'sepal width (cm)"',

‘petal length (cm)',

‘petal width (cm)'],

'filename': 'iris.csv',

'data_module': 'sklearn.datasets.data'}
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iris.DESCR

'.. _iris_dataset:\n\nIris plants dataset\n---—-———————————mm— \n\n**Data Set Characterist o o - ¢ ’
ics:**\n\n :Number of Instances: 150 (50 in each of three classes)\n :Number of Attr IrIS.DESCR C\ key( DESCR )
ibutes: 4 numeric, predictive attributes and the class\n :Attribute Information:\n

- sepal length in cm\n - sepal width in cm\n - petal length in cm\n - @Cj%%ﬂy D tbﬁi a
- class:\n - Iris-Setosal\n Iris

petal width in cm\n -

-Versicolour\n - Iris-Virginica\n \n :Summary Statistics: —_— =) I -t K,—H —\\

in Max Mean SD Class Correlation\n ============== ==== ==== =
=\n sepal length: 4.3 7.9 5.84 0.83 0.7826\n sepal width:
2.0 4.4 3.05 0.43 -0.4194\n petal length: 1.0 6.9 3.76 1.76 0.9490 (h
igh!)\n petal width: 0.1 2.5 1.20 0.76 0.9565 (high!)\n = ============== =
6.3, 2.5, 5. , L.91,
6.5, 3. , 5.2, 2. 1,
(6.2, 3.4, 5.4, 2.3], \
[5.9, 3., 5.1, 1.8]11), \ o o VA NV
‘target': array([0, @, @, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 5‘6(& t G)”"'SOD tHj]%:t% 1&::“5%
0,0, 0 0 0 0, 0,0 0 0, 0,000, 00,00, 00, 0,0, no (]
@ 0,0:0;:0; 9, 1;,1; 1, 1, 1,3, T, 1; 1, 2; 15 1;4;: 1, 1; 1;
1; 1; L 15 1; 1,11 1 1311 1; 1; 1a 15 1; 1: 10 1; 1; 1s
,1,1,1,1,1,1,1,1,1,1,1,2,2,2,2,2,2,2,2, 2, 2,
2, 2,12, 2,2, 2;2,2, 2, 2,202, 2, 2; 2,2, 2 2,242, 2; 2,
2i 251252325 2:252 25 25282 25 25 29:25 25 21D
'frame': None,

'DESCR': '.. _iris_dataset:\n\nIris plants dataset\n \n\nkxxData Set Characteristics:**\n\n :Number of Instances: 150 (50 in each of three classes)\n :Number of Attributes: 4 numeric, predictive
ttributes and the class\n :Attribute Information:\n sepal length in cm\n - sepal width in cm\n - petal length in cm\n - petal width in cm\n - class:\n - Iris-Setosa\n

Iris-Versicolour\n - Iris-Virginica\n \n :Summary Statistics:\n\n \n Min Max Mean SD Class
\n sepal length: . . 0.7826\n sepal width: 2.0 4.4 3.05 0.43 -0.4194\n petal length: 1.0 6.9 3.76

0.9490 (high!)\n petal width: 0.1 2.5 1.20 0.76 0.9565 (high!)\n \n\n :Missing Attribute Values: None\n :Class Distribution: 33.3%

or each of 3 classes.\n :Creator: R.A. Fisher\n :Donor: Michael Marshall (MARSHALL%PLU@io.arc.nasa.gov)\n :Date: July, 1988\n\nThe famous Iris database, first used by Sir R.A. Fisher. The dataset is taken\nfrom
Fisher\'s paper. Note that it\'s the same as in R, but not as in the UCI\nMachine Learning Repository, which has two wrong data points.\n\nThis is perhaps the best known database to be found in the\npattern recognition
literature. Fisher\'s paper is a classic in the field and\nis referenced frequently to this day. (See Duda & Hart, for example.) The\ndata set contains 3 classes of 50 instances each, where each class refers to a\ntype
of iris plant. One class is linearly separable from the other 2; the\nlatter are NOT linearly separable from each other.\n\n.. topic:: References\n\n - Fisher, R.A. "The use of multiple measurements in taxonomic
problems'\n Annual Eugenics, 7, Part II, 179-188 (1936); also in "Contributions to\n Mathematical Statistics" (John Wiley, NY, 1950).\n - Duda, R.0., & Hart, P.E. (1973) Pattern Classification and Scene
Analysis.\n (Q327.D83) John Wiley & Sons. ISBN ©0-471-22361-1. See page 218.\n - Dasarathy, B.V. (1980) "Nosing Around the Neighborhood: A New System\n Structure and Classification Rule for Recognition in
Partially Exposed\n Environments". IEEE Transactions on Pattern Analysis and Machine\n Intelligence, Vol. PAMI-2, No. 1, 67-71.\n - Gates, G.W. (1972) "The Reduced Nearest Neighbor Rule". IEEE Transactions\n
on Information Theory, May 1972, 431-433.\n - See also: 1988 MLC Proceedings, 54-64. Cheeseman et al"s AUTOCLASS II\n conceptual clustering system finds 3 classes in the data.\n - Many, many more ...',
'feature_names': ['sepal length (cm)',

'sepal width (cm)"',

‘petal length (cm)',

‘petal width (cm)'],

'filename': 'iris.csv',

'data_module': 'sklearn.datasets.data'}
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printiris-DESCR print(iris.DESCR) THPR I KRKEDXT

. _iris_dataset:

Iris plants dataset

xkData Set Characteristics:*xk — _ _
| 150457 —59T1O 5 R508M3U SR
:Number of Instances: 150 (50 in each of three classes)
:Number of Attributes: 4 numeric, predictive attributes and the class
:Attribute Information:

= 1 length i Ve
- 2:2:1 wiggh iinc;m Zli:)(Z)4%?ﬁ£Q§Ei o
- petal length in cm sepal length(cm) : Z2RF DRSS
- petal width in cm . . =
- class: e sepal width(cm) : ZH DS
- Iris-Setosa —_——— g\~
- Iris-Versicolour peta| Iength(Cm) . ’[bUb@Eé

- Iris-Virginica

petal width(cm) : FEU S DI

:Summary Statistics:

T’Ii; =Max Mean SD  Class Correlation 330)9 72 o
memmemes e e e e e Iris-Setosa : EADF 7P X(0)
Sepa eng a . . . . . . . N — »
sepal width: 2.0 4.4 3.05 0.43 -0.4194 Iris-Versicolour : ZI)L—202>wv D (1)
tal length: 1.0 6.9 3.76 1.76  0.9490 (high!) . . e e sy —
E:tgl width: 8.1 2.5 1.20 0.76  ©.9565 (h;gh!) Iris-Virginica :IN—=Z7(2)
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print(iris. DESCR) THAPRI K EDXT

1507 =45 T1 OS> R5046M30U 5 R

ADDFHE

sepal length(cm) : EFDORE
sepal width(cm) : 2/ D18
petal length(cm) : EU'S DR

4D petal width(cm) : FEUS DiE
Sepal(B < F)DR= &8 —~
Petal(fTEU'S) DR & i@ 3DDU SR
o Iris-Setosa : EADFT P X(0)
E%g?f\fi 7 X(0) Iris-Versicolour : ZIL—25v (1)
TS5 w50 Iris-Virginica :/\—>Z7(2)

IN—IZhH(2)
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print(iris.datal[@])

iris.data[O]N1EB D7 ¥ X DHHE

print(iris.target([0])
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[5.1 3.5 1.4 0.2]
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ERDOME. HER UDOEMFE T, ZRITOFHED T —5 DBEER) Z
KORBWTT =Y DRHZEMREIT DI EDNHEREKD,

FBADX Y LEERTLBDE 2 RTTP 3 RITICT DI ENEEKDDTIBRLEKD,

H<RDRZ H<ROW TUSORZ TRUSOMR FHP1 EFBED2 FRHPL O ERD2 EFRHD3

0 5.1 35 1.4 0.2 0 OO 0 OO T
1 4.9 3.0 1.4 0.2 1 OO 1 OO T
2 47 3.2 1.3 0.2 2 OO 2 OO T
3 46 3.1 1.5 0.2 3 OO 3 OO T
4 5.0 36 1.4 0.2 * 4 OO or 4 OO T
S SO O

145 6.7 3.0 5.2 2.3 145 OO 145 O TTO T
146 6.3 2.5 5.0 1.9 146 O O 146 Q Q O.
147 6.5 3.0 5.2 2.0 147 OO 147 OO T
148 6.2 3.4 5.4 2.3 148 OO 148 OO T
149 5.9 3.0 5.1 1.8 149 OO 149 OO T

4 DODFHE= 2DOP3DDRHAZICHS T ZENEKD
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FEFRDAMT(PCA)ZEITIT B

from sklearn.decomposition import PCA
model = PCA(n_components=2)
result = model.fit transform(iris.data)

TFILE = PCAOTETILZERL

GERBZFE Dmodel = Sequential() & @)

n_components=~(&. ED7ZWERDDEZANT D

E7 )L fit_transform(FHE) TEZB EFHULVENDH TIEHZEITS
H X H

@6

FE (=#F L VLEDOIER) WADT =X DHTIED
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RITIERZ R result(CiSin

result.shape result(atnumpy@ﬂ’i']‘(‘\ (] 50,2)@2»’3%@377“
(150, 2)
result

array([[-2.68412563, 0.31939725],
[-2.71414169, -0.17700123],
[-2.88899057, -0.14494943],
[-2.74534286, -0.31829898],

latalaVal ol oW ally T AAaMNTNANA A

.41523588, -0.57491635],
.56301338, 0.2778626 ],
.41874618, 0.3047982 ],
.94410979, 0.1875323 ],
.52716661, -0.37531698],
.76434572, 0.07885885],
.90094161, 0.11662796],
.39018886, -0.28266094]])

=1 | e e e e
R R R R NN



FEFRDAMT(PCA)ZEITIT B

RITIERZ R result(CiSin

. 90094161, .116627961],
. 39018886, .28266094]1])

\} N, —
result.shape resultlEnumpyBc3I<T. (150,2)D2XITHCS!
(150, 2)

result[:,0]

result .68412563, -2.71414169, -2.88899057, -2.74534286, -2.72871654,
.28085963, -2.82053775, -2.62614497, -2.88638273, -2.6727558 ,
.50694709, -2.61275523, -2.78610927, -3.22380374, -2.64475039,
array( .68412563, .31939725], .38603903, -2.62352788, -2.64829671, -2.19982032, -2.5879864 ,
71414169, 1-0.17700123], 20060801, 3. 46862007, 2 56231991 —3. 63653472, 3 63108635,
- 88899057, .14494943], .58739848, -2.4099325 , -2.64886233, -2.59873675, -2.63692688,
. 74534286, .31829898], .86624165, -2.62523805, -2.80068412, -2.98050204, —-2.59000631,
.72871654, .32675451], 77010243, -2.84936871, -2.99740655, -2.40561449, -2.20948924,
~Ananra~a —aannaar 71445143, -2.53814826, -2.83946217, -2.54308575, -2.70335978,
.28482569, 0.93248853, 1.46430232, 0.18331772, 1.08810326,
.64166908, 1.09506066, -0.74912267, 1.04413183, -0.0087454 ,
.50784088, ©0.51169856, 0.26497651, ©.98493451, -0.17392537,
. X .92786078, 0.66028376, 0.23610499, 0.94473373, 0.04522698,
1.41523588, §-0.57491635], .11628318, ©0.35788842, 1.29818388, 0.92172892, 0.71485333,
2.56301338, .2778626 ], .90017437, 1.33202444, 1.55780216, 0.81329065, -0.30558378,
2.41874618, .3047982 1, 06812649, -0.18962247, 0.13642871, 1.38002644, 0.58800644,
1.94410979, § 0.1875323 1, 46450629, 08908155 | 0 23054802, 0. 70453176, 0. 35608140,
1.52716661, .375316981, .33193448, 0.37621565, 0.64257601, -0.90646986, 0.29900084,
1.76434572, .07885885], .53119273, 1.41523588, 2.61667602, 1.97153105, 2.35000592,

1 —~ ~ —~ ~ — — —~ —~ ~ s ~ s

1

result[:,0](Z1TOET. MH1FBEZME=F—FKD
(result[;,1](Z1T2 7T, FE25BZ=HE=F_FHD)



FEFRDAMT(PCA)ZEITIT B

T D= (iris.data) MIC IS EIZ (result)
150174%! 1501725

iris.data result

array([[5.1, 3.5, 1.4, 0.2], array([[-2.68412563, ©.31939725],
(4.9, 3. , 1.4, 0.2], [-2.71414169, -0.17700123],
(4.7, 3.2, 1.3, 0.2], » [-2.88899057, -0.14494943],
[4.6, 3.1, 1.5, 0.2], [-2.74534286, -0.31829898],
[5. , 3.6, 1.4, 0.2], [-2.72871654, 0.32675451],
[5.4, 3.9, 1.7, 0.4], ToTonmnnmane ~oTmannneend
[4.6, 3.4, 1.4, 0.3],

M E NI DO SHTIELBIFHE2 D (D1 EXED2) IChhoT=
ex) 1D2BD7 VP X(=eA DX 7V X)Z

N<KRDRE=5.1, ’<HFDIE=3.5. BUSODRE=1.4, EUOS5DIE=0.2
— FEMND1=-2.68412563. £mH7D2=0.31939725 &xofc



FEXDDIT(PCA)DIERZXTRT B

import matplotlib.pyplot as plt
plt.scatter(result[:,0],result[:,1])
plt.show()
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PV ADERTED(TT D

import matplotlib.pyplot as plt
plt.scatter(result[0:50,0],result[0:50,1],c="r",label="setosa')
plt.scatter(result[50:100,0],result[50:100,1],c="'b"',label="'versicolor')
plt.scatter(result[100:150,0],result([100:150,1],c="'g',label="'verginica"')

plt.legend()
plt.show()
" result[0:50,0],result[0:50,1][ZZNZN
® © 1HD5501TEEX TORIERD ER2ERD
] ®
w0l ° 11\ 550fTB D EA DF TP XK
® e i . SI1HMS510017BD I —205v o =T
- _ O 101051501 7BD/IN—Y Z h%Zkx
o o *%edp® lCLTW3
e .’f. ft .~.‘ o Y
0.0 °e o..&. ©® C=~~3EDE. label=~~[ZEDZRIEIETE
.? ® * &2 <%, labelz600 U728 (Eplt.legend() Zz:E N0
@ @ @
-051 09 ..'l' .‘.:ﬂﬂl
« %0 .
B » ® setosa
= ® ® versicolor
& . ® verginica
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ftb D RITHIB D X

MDS(ZRTTRERBRE)
T —YRITOMmEZETTIC, EVWEDEE(FEL CEE L.
EWNWBHD(EELICBET DFE

t-SNE
L IEBICEZBRITTDT—IH2. IRTTICEE LIADDAE
WL DEEDEFRELRBANHIFITBILS (CLTHRT S
BT =Y EPCAK D HESRBEICRTHIBZITZA D Z EH% L)

UMAP (8D )
S tSNEK D H = 5 [CEITREIIRVVRITHIRFE
WET ) AR TEKERESNTWLS

PCAIZCD LS %
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X(IBE &% swiss roll(O0—
LT —F)EWSF—5




ftb D RITHIB D X

POARRELEIZEDSKZL
model=MDS() &9 3

MDSZ3XE1T9 %
from sklearn.manifold import MDS
model = MDS(n_components=2) " ® setosa
result = model.fit_transform(iris.data) 2 L & il
@ o ,%°.°¢Q .°, @ verginica
@
/usr/local/lib/python3.10/dist-packages/sklear o 0".’.0... " e ¢
warnings.warn( & o ¢ %o 0% o
2 ap & . ® 0 o
® ’~oo. o‘ &
ZILTUXLHESZ(F T, BIEPCAE —iE o *® e
(FHE4DD(150,4)ZHHE2DD(150,2)[C LT D)
BDT, BABUELDICHR(EFEEFEDI— ~ZEBFA) -1 1
@
]
import matplotlib.pyplot as plt o .‘:. ’.’.
plt.scatter(result[0:50,0],result[0:50,1],c="r"',label="'setosa’) o A
plt.scatter(result[50:100,0],result[50:100,1],c="b"',label="'versicolor') & 5]
plt.scatter(result[100:150,0],result[100:150,1],c="qg"',label="'verginica') o @
plt. 1egend( ) -3 T T T T T T T
plt.show() -3 -2 -1 0 1 2 3

BREIBBLELEWEXT
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from sklearn.manifold import TSNE
model = TSNE(n_components=2)
result = model.fit_transform(iris.data)

7.5 1
POARBKRKELEIZE DS 5.0 -
EFI)ILZZTSNE()ET B
2.5 1
EX(EEHR 0.0 1
_25 -
import matplotlib.pyplot as plt -5.0 A
plt.scatter(result[0:50,0],result[0:50,1],c="'r"',label="'setosa')
plt.scatter(result[50:100,0],result[50:100,1],c="b"',label="'versicolor') 75 -
plt.scatter(result[100:150,0],result[100:150,1]1,c="g"', label="'verginica') '
plt.legend()
plt.show() -10.0 1

t-SNEZZE1TI D

® setosa
® versicolor
® verginica
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Ipip install umap-learn UMAP%%’T??%
from umap import UMAP -
model = UMAP(n_neighbors=15) (UMAP(Iumap-learn& L\ 5
result = model.fit_transform(iris.data) 54’75 D1V R h_)bb\b‘z\g)
Collecting umap-learn
Downloading umap-learn-0.5.5.tar.gz (90 kB) i
90. 201 @ setosa ’.b
Preparing metadata (setup.py) ... done ® ver5|_cglor
DAamcnitavmeameanmd o wmamdy: codag ~fa s EEET TN | 177 Las e~ . Verg|n|ca
- 15 4
POARKRELBEEDSIRL
EFILBZUMAP() &9 %
10 1

n_componentsD K SIXIBENELS TH
2DODRHEICHIRENS




MnNistDT —4 TP 2> TH KD

mnistD st A H

from keras.datasets import mnist
(x_train, y_train),(x_test, y_test) = mnist.load_data()

Downloading data from https://storage.googleapis.com/tensorflow/tf-keras—datasets/mnist.npz
11490434/11490434 [==============================| - 15 Qus/step

BN U B D T, x_train ULHMED LR,
X_train@®J —%(60000,28,28)%(60000,784)(CZ A

X_train.shape

(60000, 28, 28)

X_train = x_train.reshape(60000,784)
X_train.shape

(60000, 784)



mnistO7T—5 TP > THKD
x200 = x_train[0:200] data(60000,784)D5c58200@ZERD B9
Xx200.shape
(200, 784)
28 x 28=784 784
e g
»200<
60000 —
- ] g
(200,784)

(60000,28,28)

(60000,784)



mnistD 7 —

from sklearn.decomposition import PCA
model = PCA(n_components=2)
result = model.fit_transform(x200)

import matplotlib.pyplot as plt
plt.scatter(result[:,0],result[:,1])
plt.show()

784 R 5% 2> RITICRITHIR
L7=5E58200BD 77— %

Z Dresult®H oN)LTEDIF L7zL)
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mnist®

F —

> CPCA

y200 ==

array([False,
False,
False,
False,
False,
False,
False,
True,
False,
True,
False,
False,
True,
False,
False,
False,
False,
False,
False,
False,
False,
False,
False,

True,
False,
False,
False,

True,
False,
False,
False,
False,
False,
False,
False,
False,

True,
False,
False,
False,
False,
False,
False,
False,
False,

Falsel)

False,
False,
False,
False,
False,
False,

True,
False,
False,
False,
False,
False,
False,

True,
False,
False,
False,
False,
False,
False,
False,
False,

False,
False,

True,
False,
False,
False,
False,
False,

True,
False,
False,
False,
False,
False,
False,
False,
False,

True,
False,
False,
False,

True,

False,
False,
False,
False,
False,
False,
False,
False,
False,
False,
False,
False,
False,

True,
False,
False,
False,
False,
False,
False,
False,
False,

False,
False,
False,
False,
False,
False,
False,

True,
False,
False,

True,
False,
False,
False,
False,
False,
False,
False,
False,
False,
False,
False,

False,
False,
False,
False,
False,

True,
False,

True,
False,
False,
False,
False,

True,
False,
False,
False,
False,
False,
False,
False,
False,
False,

False,
False,
False,

True,
False,
False,
False,
False,
False,

True,
False,
False,
False,
False,
False,
False,
False,
False,

True,
False,
False,
False,

False,
False,
False,
False,
False,
False,
False,
False,
False,
False,
False,
False,
False,
False,
False,
False,
False,
False,
False,
False,
False,
False,

y200 ==
EgdE. y200(200@ D%
FOT—Y)DS5,

0&EZFUIFNIETrue,
0EZF UL E(INILFalse

HHR > TE X I numpyticsl)
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numpyBC5TTrue’Z(FIRELE T

import numpy as np
test = np.array(I[1,2,3,4,5]) test
test
(1, 2, 3, 4, 5]
array([1, 2, 3, 4, 5])
true false
true_false = np.array([True,False,True,False,Truel)
true_false [True,False, True,False, True]

array([ True, False, True, False, Truel)

test[true false]

test[true_falsel

array([l, 3; 5]) [ -I ’ 3 ’ 5 ]




numpyBC5TTrue’Z(FIRELE T

£ 1 EDZEOEH U Tresult1 [CRA 200D S5, EEERINILHAODEDH True

resultl = result[:,0] 22()() y200 ==
resultl ( ’) array([False, True, False, False, False, False, False, False, False,
False, False, False, False, False, False, False, False, False,
False, False, False, True, False, False, False, False, False,
array([ 3.69042055e+02, 1.05540642e+03, —1.03942075e+02, —6.59462988e+02, False, False, False, False, False, False, False, True, False,
-4.25982148e+02, 1.89542498e+02, -6.19111451e+02, 8.69051072e+02, False, True, False, False, False, False, False, False, False,
-7.81486729e+02, -4.96525277e+02, 2.14912864e+02, -6.62952615e+02, False’ Fa'l_se' False’ False' False' False’ True' False’ Fa]_se'
5.79201334e+02, 8.45672674e+01, -7.86051951e+02, —4.20579990e+02,
9.61637449e+01, -2.60347671e+02, —-8.44706128e+01, —7.46599062e+02, False, False, True, False, False, False, False, False, False,
2.79621049e+02, 1.05183831e+03, —-6.49147638e+02, —6.79366168e+02, True, False, False, False, False, True, True, False, False,
-2.25514337e+02, 1.13727774e+03, -5.89625657e+02, 1.21077361e+03, False, False, False, True, False, False, False, False, False,
4.74306669e+02, -7.49757350e+02, —2.02082715e+02, 1.31372667e+01,
-9.39728235e+01, —6.26401328¢+02, 8.82811286e+02, —6.30434967¢+02, True, False, False, False, False, False, False, True, False,
1.61209327e+02, 1.07877215e+03, —3.10096989e+02, 2.12301829e+02, False, False, False, False, False, True, False, False, False,
—-8.22747095e+02, 7.46722708e+01, -7.08739847e+02, -5.76518458e+02, False, False, False, False, False, False, False, False, False,
-2.52441047e+02, -2.56990872e+02, -5.49491504e+01, -2.54094832e+02,
-1.82181897e+02, 6.83137399e+02, 1.77733554e+02, 1.65795746e+03, True, False, False, False, False, False, True, False, False,
2.73856204e+02, -7.64082193¢+02, -2.72471567e+02, -7.49196019e+01, False, True, True, False, True, False, False, False, False,
1.20576150e+03, -5.94516916e+02, 3.01586880e+02, -5.71117649e+02, False, False, False, False, False, False, False, False, False,
1.20858698e+02, —6.21018205e+02, 5.34650464e+02, 1.35521202e+03, False, False, False, False, False, False, False, False, False,
3.15181555e+02, -6.36017541e+02, 3.56570551e+02, -8.22630886e+02, Fal Fal Fal Fal Fal Fal Fal Fal Fal
2.71463345e+02, 1.51107526e+03, -8.22408500e+01, —6.09703652e+02, alse, ralse, ralse, ralse, ralse, ralse, ralse, ralse, ralse,
-8.61350490e+02, —4.38553778e+01, 2.34853270e+02, 1.15345437e+03, False, False, False, True, False, False, False, False, False,
é-gi;;gg%g&g;, —?-g;?}ggggﬁgi, —I-iiéé;éggagg, —?-ggﬂiggiﬁgg. False, False, False, False, False, False, False, True, False,
. @ ’ . aH ’ . - ’ . 2 ’
_1.71108658e+02, 7.82594925e+01, -2.10733628e+02, —3.03298169¢+02, False, False, False, False, False, False, False, False, False,
1.14076409e+03, —2.84858095e+02, 4.30953645e+02, -3.73348697e+02, False, False, False, False, False, False, False, False, False,
-2.18692083e+02, 2.39554842e+02, -1.25997348e+02, 1.45170085e+03, False, False, False, True, False, False, False, False, False,
-6.47448450e+02, 7.30031928e-01, 1.53117227e+02, -8.05503884e+02, False, False])
-2.41119248e+02, —2.04083808e+02, —7.73023412e+02, —-4.19030445e+02, !

-6.93372877e+02, -6.34026417e+02, 5.62965166e+02, .11797467e+02,
.72527320e+02, -2.74512647e+02, .04529835e+02, 9.69781835e+02,
-8.64938064e+02, -5.27627766e+02, 20098466e+03, -3.82913980e+02,

IS
[
o

[

— — A\ A
-7.96208568e+01, 8.67790417e+02, 8.15634557e+02, 1.33107334e+03, 72 W \ )
7.31228974e+02, 1.52049829e+03, -2.61748299e+02, -3.98108311e+02, resu t ) \ L'F ) /\ o
-7.98860883e+02, 9.16563623e+01, 3.18126470e+02, -4.54235672e+02,
-6.79519826e+02, 1.07304194e+02, 3.43201289e+01, -3.52585840e+02,
-3.81869870e+02, —-6.58745892e+02, -2.73636151e+02, 3.00717138e+02,
-8.92949178e+01, -3.74521322e+02, 8.26939687e+02, -4.12275926e+02,
-6.34916494e+02, -6.14360344e+02, -4.66612472e+02, -1.80261952e+02, resultl [y2@0 == 0]
-2.41571663e+02, -5.63835655e+02, 1.32646007e+02, -1.77969718e+02,
-3.90216203e+02, 7.21761173e+02, -3.83081576e+02, 1.92104301e+02,
-6.88977736e+02, —-6.99920053e+02, -8.02039647e+01, 1.48769675e+02,
6.48964056e+02, 4.90262299e+02, -1.71213525e+02, 2.86262357e+02, a rray( [1055.4064223 , 1051.83830511, 882.81128644, 1078.77215007,
-2.82424095e+02, 9.82138603e+02, -2.62980055e+02, -5.53574260e+02
4.761710900+02, 1.809444680+02, —4.705550930+02, 1889607600402, 1657.95746338, 1205.76150277, 1355.21202486, 271.46334478,
-4.68920842e¢+02, 1.30461881e+03, -1.86366459e+02, 5.66553380e+02,
-1.58442988e+02, -7.19908349e+02, -8.18741266e+02, -3.14390057e+02, 1511. 07525658: 1153.45436922 ’ 1347.82609121 ’ 1140.76408833 ’
-4.40518816e+02, -7.40423388e+02, 3.05827516e+02, 9.75502063e+02,
-5.94876186e+02, 4.14736031e+02, 7.90704407e+02, -3.59793351e+02, 1451.70084762 ’ 472.52732048 » 1200. 98466365 ’ 815.63455652 ’
~7.46093407e+02, -2.05071109e+02, -2.15388126e+02, 8.40038901e+02,
1.40595638e+02, 2.34872660e+02, 2.15677838e+02, -5.09724869e+02, 1331' 07334107' 1520' 49828785' 648' 96405579' 1304' 61880826'
1.23196281e+03, -3.13103346e+02, 2.12032797e+02, -3.32520611e+02,
2.60904311e+02, -2.69951054e+02, 7.27878343e+01, 1.03893916e+01]) 1231. 96280974] )




numpyBC5TTrue’Z(FIRELE T

result2 = result[:,1]
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plt.legend()
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from sklearn.datasets import load_iris

iris = load_iris() array([[5.1, 3.5, 1.4, 0.2],
iris.data 4.9, 3. , 1.4, 0.2],
4.7, 3.2, 1.3, 0.2],
PV AXDT = %Z5mHMAD 4.6, 3.1, 1.5, 0.2],
5. , 3.6, 1.4, 0.2],
4D DYFHE 5.4, 3.9, 1.7, 0.4]
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4.4, 2.9, 1.4, 0.2],
4.9, 3.1, 1.5, 0.1],
5.4, 3.7, 1.5, 0.2],
4.8, 3.4, 1.6, 0.2],
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import matplotlib.pyplot as plt o
plt.scatter(gakul:,0],gakul:,1]) 4.0 - . =
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import matplotlib.pyplot as plt .
plt.scatter(gakul:,0],gakul:,1]) 4.0 - . B
plt.show() s N ® o
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from sklearn.cluster import KMeans
model = KMeans(n_clusters=3, random_state=0)

model.fit(gaku)
cluster=model.predict(gaku)
print(cluster)

(r111111111111111111111111111111111111
1111111111111222020202000000200000000
2222000000002000000000000020222202222
22002222020202200222220022202220222802
2 0]

D3RPV DR, 150BDT—91H0, 1, 2[C3(FS5NT

r

o



NKRADORSEWTOSRY VYT ZRIK

U225 —0,128[CH < FDORS EBTRRLICL

45 -

import matplotlib.pyplot as plt &
plt.scatter(gaku[0:50,0],gakul0:50:,1]) 5
plt.scatter(gaku([50:100,0],g9aku(50:100,1]) 4.0 - e " @
plt.scatter(gaku[100:150,0],9aku([100:150,1]) .. B o o
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9229 MOMNSEH(True or False)

cluster == 0

array([False, False, False, False, False, False, False, False, False,
False, False, False, False, False, False, False, False, False,
False, False, False, False, False, False, False, False, False,
False, False, False, False, False, False, False, False, False,
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plt.scatter(gakulcluster==0,0],gakulcluster==0,1])
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cluster centers TO S RAYDEIHV=EET

model.cluster_centers_

array([[5.77358491, 2.69245283],
[5.006 , 3.428 1,
[6.81276596, 3.07446809]])

DS RIB3ICLTWVWBD T,
(5.77, 2.69),(5.01, 3.43),(6.81, 3.07)
D3R T(3,2)DBes(CiEm>TLND

import matplotlib.pyplot as plt
plt.scatter(gakulcluster==0,0],gaku[cluster==0,1])
plt.scatter(gakulcluster==1,0],gakulcluster==1,1])
plt.scatter(gakulcluster==2,0],gakulcluster==2,1])
centers = model.cluster_centers_
plt.scatter(centers[:, 0], centers|:,
plt.show()

1], c='r', s=150, marker="x')
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from sklearn.cluster import KMeans = =
model = KMeans(n_clusters=2, random_state=0) i
model. fit(gaku) -
cluster=model.predict(gaku) 4.0 - " ®
print(cluster) & ®
® eo
@ @ B
plt.scatter(gakulcluster==0,0],gakulcluster==0,1]) 3.5 1 & ::: .°
plt.scatter(gakulcluster==1,0],gakulcluster==1,1]) @
s e ® @
plt.show() S i
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from sklearn.datasets import load_iris gaku = iris.datal:,0:2]
iris = load_iris() gaku
iris.data LTew) o 1,
[5.8, 4. ],
array([[5.1, 3.5, 1.4, 0.2], [5.7, 4.4],
[4.9, 3. , 1.4, 0.2], [5.4, 3.9],
(4.7, 3.2, 1.3, 0.2], [5.1, 3.5],
[4.6, 3.1, 1.5, 0.2], [5.7, 3.8],
[5. , 3.6, 1.4, 0.2}, (5.1, 3.81,
5.4, 3.9, 1.7, 0.4], . . -
{4.6, 3.4 1.4 0.3] {55)‘; 3‘7‘} gakuZiris.datalcEB L T
[5. , 3.4, 1.5, 0.2], [4:6' 3:6], 0729U\/9
[4.4, 2.9, 1.4, 0.2], (5 1. 3 3]’
[4.9, 3.1, 1.5, 0.1], [4'8' 3'4]’
[5.4, 3.7, 1.5, 0.2], [5' ! 3' ]'
[4.8, 3.4, 1.6, 0.2], [5' ! 3'4]'
48, 3 14 01] 52 38,
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4.5 4
model = KMeans(n_clusters=3, random_state=0) >
model.fit(iris.data)
cluster=model.predict(iris.data)
print(cluster) 4.0 -
plt.scatter(iris.datalcluster==0,0],iris.datalcluster==0,1]) ® o
plt.scatter(iris.datalcluster==1,0],iris.datalcluster==1,1])
plt.scatter(iris.datalcluster==2,0],iris.datalcluster==2,1]) 3.5 - ®
plt.show() ' ® oo
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model = KMeans(n_clusters=3, random_state=0)
model.fit(iris.data)
cluster=model.predict(iris.data)
print(cluster)

model = KMeans(n_clusters=3, random_state=0)
model.fit(iris.data)
cluster=model.predict(iris.data)
print(cluster)

» from sklearn.decomposition import PCA

plt.scatter(iris.datalcluster==0,0],iris.datalcluster==0,1]) model2 = PCA(n_components=2)

plt.scatter(iris.datalcluster==1,0],iris.datalcluster==1,1]) result = model2.fit_transform(iris.data)
plt.scatter(iris.datalcluster==2,0],iris.datalcluster==2,1])
plt.show() plt.scatter(result[cluster==0,0],result[cluster==0,1])

plt.scatter(result[cluster==1,0],result[cluster==1,1])
plt.scatter(result[cluster==2,0],result[cluster==2,1])
plt.show()
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